SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

1) 805197 — 602167 =

52) 545396 — 513273 =

3 759310 — 715010 =

1) 794393 — 380392 =

5 336616 — 304103 =

56) 631028 — 310028 =

871 868217 — 252207 =

s8) 463889 — 102411 =

79) 245825 — 114810 =

10) 212597 — 212164 =

Y 204893 — 204361 =

2) 528362 — 100062 =

73) 375087 — 5024 =

1) 439829 — 300325 =

95 606146 — 305115 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 3
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740774 — 20531 =

907925 — 606621 =

603458 — 234 =

854319 — 554207 =

410552 — 100410 =

464488 — 23178 =

255560 — 134010 =

769353 — 240301 =

340074 — 110062 =

236527 — 214406 =

531977 — 520744 =

359184 — 300074 =

267322 — 50212 =

629417 — 518410 =

290121 — 150120 =
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